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GENERAL INSTRUCTIONS FOR CANDIDATES

You are given a Test Booklet of 20 pages as well as an OMR (Optical Mark Recognition) Answer Sheet. The
Test Booklet contains 100 questions serially numbered from 1 to 100. Count the pages of the Test Booklet
and be sure that they are in proper order. Ensure that Serial Number and Code of the Test Booklet and
the OMR Answer Sheet are same. In case of mismatch/defect/discrepancy in the Test Booklet, and OMR
Answer Sheet, report to your Invigilator and get the Test Booklet and OMR Answer Sheet replk
Answers are to be marked only in the OMR Answer Sheet as per the details given below.
(a) Candidates are required to indicate their answers at an appropriate place on tl
(b) Darken only one circle for each question as per instructions given on Sic
(c) For each question, there are four options marke (

which only one option is correct. The candidate

corresponding circle of the chosen answer.

For example, if your answer for Question no..

(d) Only Blue/Black Ballpoi
bring their own Ball,

The test will be of 2 hours 3

with only objective-typ
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Directions : (Questions no. 16 to 30) For each question, lbllr D
of which only one is correct. Select the correct answer and indie
Answer Sheet.

Dire
Directions : Read the following passage carefully |choosing th
and answer questions no. 16 - 18. the paragr

We turned to look in the direction pointed out, and | oy
there saw a penguin walking slowly along the shore | :
with an egg under its tail. There were several
others, we observed doing the same thl¥ and

found afterwards that these were a hndgf r

that always carried their eggs so. Indeed t ey hs

most useful pocket for the pmmf“? hetwee n

tail and the legs. We were very m ruck
the regularity and order of this col
seemed to be divided up into squar
penguin possessed one, and sat in

the middle of it, or took a slow march
the spaces in between. Some weﬁ 1t
eggs, but others were feedi thﬂiral
manner that caused um
mother stood on a raised rock. hile t
below her head uttered a number of
noises. R

16. The penguins carried thg :
(A) under their wings.
(B) between the tail

(C) on their backs.
(D) on their tails.

The narrator and

the mother penguin:

ones.
a mother pengui
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Choose the word similar in meaning gy 4, | Directions : (Questions No. 26 - 28)

underlined word. questions by choosing the most appropy
to fill in the blanks.

After a long and arduous drive on the hi]lg he

felt fatigued. )
= 26. No other boy in the class is as __

(A) easily Ram. 2

i

tte (B) o~

(B) effortless (A) ety : .m - .
(C) best (D) worse

(C) difficult
leepi 1l when the bell

(D) enjoyable : . He was sleeping well w —_—

(A) has rung (B) rang

(C) is ringing (D) wouldring

. B ol e

Read the sentence given below and choose the |93 You can't depend on him; he knows "

option which correctly changes it into Passive about finance. o g I’E

Voice. (A) alittle F‘-‘.

She created twenty new dresses for the (C) little L, (DR
fashion show in just two days.

(A) She had created twenty new dresses for
the fashion show in just two days.

(B) Twenty new dresses were created y he
for the fashion show in just two days.

i 15 4

(C) She had been creating

- LWENLY
Al 1 6

dresses for the fashic

p i &y
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Directions : (Questions no. 31 to 65) For each question, four possible
of which only one is correct. Select the correct answer and indicate it a

Answer Sheet.

31. 9201 3 3HTE F IS R
(A) 9
©) 3

(6)
vz - 111/ SECTION - 111

answer choices have been iU
t the appropriate place i F4€-

31. The unit place digitin 9°*' :;,;'"
(A) 9 ® 7

Lo © 3 @

D 1

g9, < s weam wmd ww A # | eeh A | ‘
@S H OPAGA 456 ad afEd @9
sl & UEEE 1729 ® | @ =R qens 3

el 98 AWST qEAT R
A 7 (B)
(C) 19 (D)

33, BA-ABA e, R AT 4 T
i e W Aa 345 @ fawfa @, 8
(A) b B) 6 .
(©) 50 (D) 60 , L5

34, fra @ @ wETT

=

ATITTT

A) 23,5

©) 6,91

35. U SIHR @A B
AEH W WA &
ﬁ G ﬁ ; :,-—,
AgH

[

5

The product c
- it

13
23

‘M is a Pythagorean

®) 6,7,9
, 9, 11) (D) (8,15,17)

3

{‘qfasquareﬁeldismﬁaqm.Ahny
s along its boundary at 18 km/h. In how
ach time will he return to the starting
) 166 seconds (B) 176 seconds

196 seconds (D) 208 sece
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36. ;ﬁ-ﬂ-m 43 €1 g, a‘hpiazhiwg, 36.
(A) 9801 (B) 9816
(C) 9824 (D) 9864

37. 8, 15m20ﬁﬁmhafﬁmma}aqpf 37.
(A) 900 (B) 1600
(C) 2500 (D) 3600

38. wﬁ:13+23+33+43+5’=2252,a‘1

224+ 434634894109 TR
(A) 450

(B) 900

(C) 1800

(D) (225)2

39. 30008 + Y0343 - V025 ST R .

(A) 04 B) 05
(€) 07 (D) 08

9 5. 2l
i 33 2= .
40. ‘[1; +(0:008) (10) T R |

2
A 11= .
@ 1l B) ug

1 o
© 183 D)

E16U 12164 5\ TITEY

The greatest 4-digit number which is ;

square, is :

(A) 9801 (B)

(C) 9824 (D) 9864

| 8
The smallest square number which is ¢ ivisibl

by each of the numbers 8, 15 and 20 is :
(A) 900 1600

(D) 3600

(B)
(C) 2500
8

If 1% + 2% + 3% + 49 & 5% = 295, then’
2%+ 4%+ 6% + 8% + 10 is equal to :

(A) 450 n
(B) 900 3
(C) 1800
(D) (225)
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; is:
41. 'ﬁz"’"%s_!ljt,?hxanmt: 41. Ifz"‘l.s_:__a,thenthevalueofl

(A) -2 ® -1 A) -2 ® -1%
(C) 2 (D) 3 © 2 (D) |

afz 5% 450+ 59=651 3, M p P AA B :

2. 4
T
(A) 2 (B) 3 ™

L |
5

(C) 4 (D) 5

(23r3i=?lﬁamﬂgmmmﬁ}
TR (69)1 WA & ?

T (B)

4

529
3

(C)

n 2
4

13
(C) ==
. 4

T T3 U o H 9 W H W
fra 79 & @, 98 o
2 1 uf o frea @ e i o
(A) 6093 | @
(C) B0 H
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)
Aqa;maﬁ%ﬁ:ﬁ'ﬂmtaml;mw A can do a work in 25 days and B can finish it
maﬁzoﬁwﬁwmi;qﬁsﬁqﬁ in 20 days. They work together for 5 days. In

TIFal R o d ill B finish th -
ﬁﬁﬁﬁﬁﬁwm? B W &y | :zrkr;my ays w nis e remaining

(A) 8fa (B) 10feq (A) 8days (B) 10 days
) 1fa (D) 13fm (C) 11 days (D) 13 days

?lﬁsgl?ﬂ?ﬂ 7qﬁﬁﬂ§ﬁﬁ’={ 1,372 mrq § |47 If 5 men or 7 women can earn ¥ 1,372 per

@ 10 959 3R 5 wfgemd wfafer feay *qu day, how much would 10 men and 5 women
FHHTI ? earn per day ? ]

(A) T 3,724 (B) ¥ 3624 (A) T 3,724 (B) ¥ 3,624
(C) T 3,524 (D) ¥ 3,124 (C) T 3,524 (D) ¥ 8,124

‘T&@Wﬁﬁ“ﬁﬁlf’%*fﬂfiﬁmaﬂx 48. If the price of an item is increased by 15% and
g # FA fwh 4 10% K Ff & s, @ the total sales of that item is reduced by ' - a8
GHEER 61 Tl FATE H HRT T FHT 7y 9 then what will be the effect on the tot

(A) 5% ! FHt earning &fa shiSREE - 2

(A) 5% decrease
(B) 1-5% %! afg

(B) 16% increas

(C) 2:5% ! & @"'
(D) 3:5% #I 3fg " .

N ‘ L

s = A R, FEf o e
# T & eht R | A e g

T & St 2 r

(A) 8

i ¥
4 ] TR
y ’ e 5 B
I LS., 2 .
! |
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2 1
51. =f: (x_%) =368, @ x*+ 3 &1 gF T

53.

i i
(A) 1442 (B) 1440
(C) 1444 (D) 1438

aﬁxz—yz+2yz—z2$lqa§mg(x+y—2)
2, @1 ZE TUEEE B

(A) x+y—2z (B) x-y+¢z

(C) x+y+2z (D) x-y-z
a2 a2 + b2 + 2 =2 -b-c -3 8 @

(2a — 3b + 4¢) T HH B :

(A) 4 (B) 3

(C) 2 () 1

U] 3N W I HG 5:8% I H | TR
#1 31y 5 ad fus 3w Hi 7Y 4 9 FH

w0 T, I H 1Y T A A R )T H

(10)

2
51. If(x_l = 36, then what is the value of
x L
4 1
T +—7
<3
(A) 1442 (B) 1440
(C) 1444 (D) 1438
52. Ifoneofthefactorsofxz—yz+2yz-z’i.A
(x + y — z), then the other factor is : 3
(A) x+y-2z (B) x-y+z
(C) x+y+z (D) x-y-2z
53. If a2+b?2+c?=2(a-b-c)-3, then the

value of (2a — 3b + 4¢) is :
(A) 4 (B)
(C) 2 (D)

3
1 d

A TR ?
(A) 1599

® ow

r L)




aomoméswﬁzooalﬁsﬁﬁﬁma A total of ¥ 50,000 is to be distributed as
mm%|mﬁnﬁ1?1mm?5oo3, prizesto200persons.Apﬁzeh-M_-'
Z 100 ATt A I FEAT fhat B 2 # 100 or T 500. What is the number of p

(A) 50 (B) 175 of T 100?
(C) 125 (D) 150 ! (A) 50 (B) 75

(C) 125 (D) 150

ABCD UF ¥R W0 R, Ry
AB =3x + 1, BC = 2y + 3, CD = 25 ait|57. ABCD is a llel —
DA=y+28% | 7@ (x +y) ST B : AB = 3x + 1, Bcazy..,;,m.

DA = y+28'l'hen,(x-ry .

% 8 (A) 29
(C). 2 ) 33 ©) 25 h =

(A) 29 (B) 21

U AqH % AW B 2:3: 5 st
§|aﬂ§?%m?§3ﬂlm
afta &1 3 R ?

(A) 80°

(C) 110°




BF923 - 5 :ﬂ:z ) |
T : . lot is 150 sq m and
6l. U IR & &F%a 150 d A 61. The area of a rectangula.rp' 50 sq
. 50 ot ;,rzq wiiz $i L= 1] e m Perimeter is 50 m. The ratio of its length to
3T £ - breadth s :
T LR T (4) 3:2 (B) 50:3
(o)) s:f (D) 7-§ €) 6:1 (D) 7:2

U feafim g € w060 @ s HSE | gg, A swimming pool is 260 m long and 140 g
1407, 2 | 72 wa 54,600 9 . 9l ¥U 1T wide. If 54,600 cu m of water is pumped intg
R, @ 9 & ur o A e A 22 it, what is the height of the water level in jt 7

(A) 1%, (B) 154, (A 1m (B) 15m

33 . o, 35 . et sk 40 9l ¢l T (68, How many bricks of size 22 em x 10cm x 7em

AR & 20 A « 10 A « 7 3 A are required to construct a wall 33 m

3-5 m high and 40 cm thick if sand used in ¢
eh R € i), oz A L foea B ; | th P
i A} 10 construction occupies 10 Part of the wall

(A) 24,000 (B) 25,000 (A) 24,000 (B) 25,000
(C) 26,000 (D) 27,000 (C) 26,000 (D)

W v A T W, e o w
WIﬁB%@@i,hwlmmt :
Wﬁiéﬁrmﬁwﬂrt? A
LR

F. 4 ',‘_..‘? 5

7 h-

)

!
f‘.
£
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Directions : (Questions no. 66 to 100) For eqch Question, four possible answer choices have been give

of which only one is correct. Select the correct answer and indicate it at the app 3 in S j
Answer Sheet. ' s

66. #T W ITH FaF (F%z), BIH (WEW) afi[66. The mode of nutrition used by b
mmmaﬁmﬁmmﬁmﬁ mushroom and yeastis: : N
s f . (A) saprophytic (B)
(A) gasfdt (B) it (C) heterotrophic (D) utotropl |
() feamardt (D) = o

Human digestive \';_ m |
T W 3 7 A o i | | omsens. Selectfro
i st 3 s § @ 3R g W o] LS
¢ & 77 & R | i O
(&) @ i, ufew, g
(B) @ T, afire, we
(©) uftrer, gz, wem

(D) uftre, m

s
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M. Pfefin weil o faan @
(1) mwﬁm'é@amh
(2) Fmrsky i i
@) mmm?m"mqﬁ
& wfsm R |
{4) waw e ) o fafu B
mmﬁ:
(A) aw (1) 3t (2)
(B) &a# (3) i (4)
(© (1), 2 3@
(D) (1), (2 3 @)

arwiet qw wfa B ford g
A :lgmwﬂwmﬁ Ferary  sEufea o

, .
(B) arquvee # seramy g i |
() g & g gz & et 7w @A

78'

fer il

74. bm-ﬁzmmﬁamtﬁwmmdﬂmh

A W

(B) riRTgde
(C) ¥ Hejelrm
(D) Rﬁ-bﬁﬂ?ﬂ”&l

7. w0 F g

74.

G B A A e i

ifa # @iz 3h Bieft
Qﬁ:aﬁaﬁrnﬁz:m{g‘ Blmmmm

A) 759 i A5 % i
wrafda #h @ | SN

(B) u1g T ¥ e
Aoy P

O T iy e i -
O Thihande
L O FW 6 g e g g

o 1‘I .

T1. Consider the following statements :

(1) Exeretion takes place in plants,

(2) Eseretion takes place in both p
animals,

(3) Excretion is a process of
excess water only.

(4) Secretion is one of the =
excretion.

The correct statements are :

(A) Only (1) and (2)

(B) Only (3) and (4)

(C) (1),(2) and (4)

(D) (1),(2) and (3)

Transpiration is a process in

(A) absorb water vapours !
atmospheric air.
e

(B) release water vapours in the atmosg
1 ‘7! l“
(C) receive water from the sa
(D) receive water from the ’
phowsym.haui‘n.

Besides sunlight plants also
following for photosynthesis :

(A) Carbon monoxide, Water, Ch
(B) Oxygen, Water, Chlorophyll |
(C) Nitrogen, Chlorophyll, Carbon di
(D) Chlorophyll, Water, Carbon diox

Silkworms secrete fibre made o
(A) protein ||,-'.f.' ‘
(B) carbohydrates R
(C) cellulose only Ny
(D) starch + celluloge

Acopperplat.ewou]d sel ol
awoodentlbleond nt
1o the reason that the copper ploy
(A) reflects more heat than |

(B) is made from metg] «
thanth.tofw:?,

(C) s a better conduess
o the wooden tapje

(D) i8 & poor condumte
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mm:%s fawg & m

71.

(1) AfFm s dmaR T R asit |

(2) #fufem & R e m‘
q=q e &9 T8 AR R
(3) sfufmn & 2w =i e wta e
4) T AW IEE . o
sl 3 P N
@ wE@ B
© (1), 23R
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A student has put a drop of dilute solution of
sodium hydroxide first on a strip of blue
litmus paper and then on & strip of red litmus
paper. His observations must be : ¥

Blue litmus paper turns red and red
litmus paper turns blue.

No change in blue litmus paper but the
red litmus paper turns blue.

Blue litmus paper turns red and no
change in the red litmus paper. o
Blue litmus paper and red litmus paper 8
both become colourless. ' e

(A)
(B)
(C)

(D)

Consider the following
chemical reactions : S e
(1) During reaction sound
(2) During reaction heat

but
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(16)

(m@_‘ﬂ%g”-

Fral
7 A 8 | v samEd @e ® FO L
ﬁuﬁmwwﬂaﬁ#ﬁnﬁf@ﬁ“'ﬁmg'
(A) Faa AfFes A= :
(B) Affed s 3 Fd TBAEEE
(C) UraTRTA 3N FET SRAFAS
(Dlmmmm 8l.
mmﬂnnﬁt(m}aﬂtm%ﬁﬁ
1 fafma (szm-zA) q91 dul &1 FEA
faeferfaa & & ##f #an 2 2
(A) %24 (B) o
() aaft () fomrd 82,

A Hu frm M 8 F99 # g1 B 7
(A) dferf (B)
(c) w3 (D)

ar ) Haa Al 9@ 320 fendter ufa 9@
%lwmm.?ﬁmmﬁmr{awﬁaﬁ
&1 I Hh, A HA F G 7 L
(A) 320 kms/hr (B) 320 KM/H
(C) 320 KMS/HR (D) 320 km/h

ﬁimasﬁwfrtﬁammﬂmﬂzom
ot # | '“*m'ﬂlu ufa w1
# =1 8 20 fre vt @ | ww zm e
TR L .

e
ol

830

the athletes suffer from muscle
to anaerobic respiration in

rted to :

Sometimes
cramps. It is due
which glucose is conve

(A) lactic acid only
(B) lactic acid and carbon dioxide

(C) alcohol and carbon dioxide

(D) alcohol and lactic acid

In human bodies the exchange of gases
between blood and tissue and the absorption
of nutrients takes place in the :

(A) heart (B) capillaries

(C) arteries (D) veins
Bryophyllum can reproduce by its :
(A) Leaves (B) Flowers
(C) Roots (D) Stem

The fastest speed of falcon is 320 kilometres
per hour. The correct method of expressing
this speed using the correct unit symbols of

distance and time is : TS -3

(A) 320 kms/hr (B) :

(c)aaomlsgn

R o

o 7?},,,.‘ 4 \h




(B) ¥ad Il 40
(C) mmmﬁamm
(D) mﬁmaﬁwmmﬁ?"

W"‘Z*‘ﬂiﬂm(ﬁm)%mmu

Hﬁ,:ﬁqqm

(B) W — e - #1218 o
(C) m—*ﬂz_) ’ ~
(D) U - $ -, Faw -
(A) U 3 grE 26
(B) w9 3R eat 2t

b
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An optical device (mirror or lens) can form real
diminished as well as real enlarged images of
an object on a screen placed on the same side
as the object. This optical device is :

(A)
(B)
©
(D)

According to the recommendations of the
United Nations the amount of water for
drinking, washing, cooking and maintai
proper hygiene per person per day is
minimum of :
(A) 100 litres (B) 50 litres

(D) 2

convex lens only

concave mirror only

either convex lens or concave mirror
either convex mirror or convex lens

+ 1

(C) 25 litres

Consider the following

A\

:, _5_
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Fraferfias 5 @ 30w = gfie e | 92,

gﬁmm%waﬁmwﬁm
@ HEHL SRATFATES
(B) A3 SI3ATHaTse

(C) e eEATFAES
(D) ®EA GHEEES

freaforfiaa & & good @l % e 1 gAC:
(A) 997 91 3 gEdE T

(B) Usfia =1 3t udor /)=

(C) =dw 91 3R fer-dga =«

(D) e a1 3 FrEhg g

@ 4§ gufy san fEdt seed § an e
A, B,C 3R Deft & | 3t a8 < 9= & ¢t
wh R 3 @ of difeat w ww @ @ T

—
AfE T 7
e hegulete 3 1)
ey
______
(A) A3NB (B) C3MmD
(C) B3RC (D) Aiﬂ!D

o ik

e &t ¢ T seen W T
i _' 17w
THHH—

Ths

following a gas where

Select from the _ ' W
ation in the environment

increased concentratior
may cause global warming :

(A) Sulphur dioxide

(B) Nitrogen dioxide

(C) Carbon dioxide

(D) Carbon monoxide

Select a pair of contact forces from the
following :

(A) Muscular force and Magnetic force

(B) Muscular force and Frictional force

(C) Frictional force and Electrostatic force
(D) Gravitational force and Magnetic force

A water tank has four taps A, B, C and D as

shown. If the tank is fully filled with water
and the taps are opened simultaneously, the

water will flow with the same pressure from

the taps :

______
______
------
______
______
------
——————
------




(19) ' oy
faz 49 @ 3wEm fAffEd d ¥ Ry |gg.  Richter ¢41° < used to measure the intensity

a1 $ Hg % fou fen < 2 2 o

(A) dfed (B) A (A) Lightning
(C) HATH (D) YFETH © Tsunami
Mﬁmmwwsl’s Saaﬂ(s g97. Four

Wmaﬁmﬁﬂﬁmﬁa_|nw gl el ¥

g 22 e o weEd S e fgure. Surface(s) on which the
Fm F T9HE 2 ? mcidencmsequ:adtoansl'aoflrwﬂﬁ'-'t“"l

L\ A\
. o

(A) Fd48, B) S, S,3Rs,
(C) 8, #NS, (D) sl,sz,s,dks

2 guad 290 ‘A W'B’an'tuigaig

m-qm # a1 g @ # | w

fgm POz A’ & fag €
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